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This is how the text reads: ‘from where; since it states - 912 % ynwn
the rapist is liable but the seducer is exempt; if it is an orphan, it is
obvious, but rather this is what he is informing us, etc.’

Overview

T1YoR ' taught in the mwn that if an orphan was betrothed and then divorced, if
someone was DIX» her, he is liable for the 01p payment, however if he was fnan
her, he 1s exempt from the 01 payment. 7117 72 92 727 stated in the name of > that
X" was following the view of his teacher X2’y "1.! The X3 continues, how do we
know this, since he said that by an o1X he is 21 and by 7non he is My, it is
obvious that this is so by a im0, rather we must say that he is restating the view of
y"7 that a AwINN 90IRNIY 7791 receives the 01p for herself. MmdoIn explains the
inference.

= NYYY NDIPY VIP N WIT NI YAV NV NNNNI 29N VINN NPT 29mYs
The X713 (when is states 121 *1np72 "X1) means to say, since X' taught, the 01X is
21 and the 7no» is MWD, we can derive from this that by a Fwaann 70RNIW 7.

there is a ©1p payment (for the 01xn)* and the 21p payment belongs to her -
= 509N NNT 90T XUV 49109 NNOM VP NMIN® DIVN INT

For if "7 mentioned that the 7np» is 7MW in order to teach this rule only by a
7N, it is obvious that by a mn the 7inon is 7wy, since she forgave him -

! See the mwn on X,72 where ¥"7 maintains that mnxy% 70IP1 0Ip A% W° AWIAND 70°RMw 77wa. This 77w1 is still
technically 7ax mwA2 (her father can be w7pn her to whomever he desires), however regarding the o1p it belongs to
her, not to her father (according to ¥"). This is (also) what X" is teaching us in our 7wn.
2 In our N3 the text reads, DR M K" 7200 1T (instead of 01187 *1pPTA). From our X073 it seems that the
proof (that X" follows ¥"3 [that n¥y? 701p]) is since X" said 7m0 (as it states according to our X071 that >Xnn
7m0 *1npTR); this would imply that if it did not say 7mn* we would not know that X" is following ¥", but this is not
so, for if X" did not say 7m0, but rather only 7waann 708N we would certainly know that he agrees with ¥ that
nnxy? nolp and therefore the nnan is 7w, MooIn therefore rejects this X071°) and maintains instead that the proof is
from 7w nnonn, which proves that 7»¥y% 701p, and we cannot say that he is w9 only because she is a 72, for
RUWH 7mIN° as NMdOIN continues to explain.
3 However by the nnon there is no 01p payment for (since she is the recipient of the 01p), she forgave him (since she
joined him willingly),
4 Normally a nnan is required to pay 01p to the father (of the 77w1), and even though it was done willingly, the 773
cannot be 5mn the payment due to her father; however by a 110>, where there is no father, we do not give her any
o1p (by nnon) because since she did it willingly she is 2m» him the 1p.
3 There is no wY7°n that by 01X the 03p is hers (since she has no father) and no w1 7°n that by 7inan he is 719 (since she
is 9mn); so what is X" teaching us?! See ‘Thinking it over’.
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Rather perforce you must say that the only reason he mentions that 7np» is
e is because he is really teaching us the ruling regarding a moIRNIY 791

AWAANIY, who has a father (that even in that case 7non is Md) -
= AN NP NIN 9109 NNON INNN DYV 1ND NIN 1PNH2INNA NN’ VPI XY

And the only reason he mentions 7772n° in our ;71w is to give an explanation
why 7npn is MWD by a AwIANN 70IRNIW 7Y, since seemingly the ©1p should

belong to her father -
= PNNYY NOIPY NMIND NI 2917 1IYNYUN)

So this is what X" is informing us that this 7w23n1 70RNWw 7791 is like a 7mwnd
that the oip belongs to her —

mooIn asks:
= PNRY NMINS VPIT NPOR NAVTTN RN 100D IR ON)

And if you will say; but how do we know this, perhaps let us say the contrary,

that he mentions 720 for the inference -
= ANy NPT PN NHMN 19N NNIN? NN NN A9IN? 29 XMNT NNHYL

The reason why 7097 is Mo is because she is also a 7210 (besides being 707KN1
7waan1), however if she is not a 7105 (and was 7w13N1) 70IXRNI) even NDR is 290
since the 21 belongs to her father (and she cannot be mn what is due to him) —

NID0IN answers:
SNDIN 699991907 91297 D137 11T 2 NAN RPTIT 9999125 19 1957 995 W

And one can say that that we do not say that this rule is coming (merely) for an
inference, as long as we can say that it is coming for its own teaching -

Summary
The inference that X"9 agrees with ¥" is from the ruling that 7no» is 7wd. A direct

6 It seems that we have two options; one that the word mmn° is inappropriate (for it is obvious that by a 7mn> the
7non is Mwy), but rather X"7 means a 771 (who has a father) aw=ann noaxnw, and he refers to her as a 7N to
explain that 7»%v5 703p because (once that 7w-an1 7078N1) she is considered like a 7mn° and 7n¥y? fo3p. In this
interpretation X" is telling us a direct ruling that 7017 of a AW AN 70NN 77w1 is AnxYY. (even though the word
7min° is inappropriate). The other option is to say that X" is discussing a (7w1anN 70IRNIW) 710 (so the word 70>
is appropriate), and even though there is no w1711 in this ruling that 017 7% X 1nan (for it is obvious), nevertheless he
is teaching this rule in order that we should infer from it, that only if she is a 207 is a WS 7n9n (since she is 2mn
the o1p), but if she would not be a 7m0, but a Aw1AN 7OIRNIW 771 there would be 031p, since it belongs to the father
and she cannot be 2m» it (not like ¥"9). NN maintains that it is preferable to say that the mawn is teaching us a
clear ruling (albeit the difficulty with the wording), rather than to say that the teaching itself is superfluous, it is only
being taught for the inference. We do not chose an inference over a direct teaching.
2

TosfosInEnglish.com



27 71"7 '0In X,n M2nd .7"'02

teaching has priority over an inference.

Thinking it over

mooIn writes that we cannot say that X"9 is discussing a 7m0 (only), for it is
obvious that there is no 01p if one was non a mn.” However let us say that X" is
only discussing 210° and the w17°17 is that a 01X must pay her the 01 even though
the 770 writes 717¥7 °2K87 101 (but not to the daughter), and he mentions 1057 since
he already mentions 01R?

7 See footnote # 5.
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